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Example1 In the figure, O is the centre of the circle.
If APB =18cm find
—
(@) BQC

(b) the circumference of the circle.

(@ &= 180°-2(40) (4 ctm oF &)

= /00°
E@:C =20 (gy proporbonal aresd
Arp 20
NBal = (P (1) = s empy
b _E_“%%L: 2607 (By prportimal arcs)
N Creenfeence = (Mem)(S22) = Cham

s

Example2 In the figure, O is the centre of the circle.
If ZAOB =110 ffind the values of x , y and z.

> = _/M ( Base Ag),t‘sos'ce&:A)

= 35—0#

y: ——:éo—‘-) (Aazfc&mfrf,fw/ceLQi‘eiraw
— ff‘,#

3= (( 4s /n He same J’f’/ﬂérv'(')

= S’KO#
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Example 3  In the figure, O is the centre of the circle.

If ZBAO=62° and AB/OC, find 0.
X = 62° (wrss, ARV 0C)
mo=3 (catcenbe e < ot erraemFerence)
=3/°
Example 4 In the figure, O is the centre of the circle.
If ZAEC=85"and «DCB=35°, findxandy.
a =35°(Ls 7 e Same Stpment)
a+x=290° (L /n Somr- et )
SeX= 55’0#
e =48e (vert opp. 45D
ot %+Y = 180" ( £ Seem of A)
£+ 6581y = )fo°

& = 3p0°
Example 5 In the figure, O is the centre of the circle.
Findx ,yand z.
A= 28°432° (oxt. £ of A)

= 4o
=% (450 e Same fgma\z‘)
= éoogéf
Yz = 90° ( 2/ Semr— circkle
éo"+g: J0°

o
N3 =30 S
Example 6 In the figure, find x and y.
ar= (80"~ 126°+40°) (4 Sum of A
= 20

% =a ( £s /h/Fe Same rg//oef.,?‘)

= 2

= 0%
b= % +#0" (oxt.c oF )

éo
y=180°=(a+4d (£ Sumofa)d
— 0°— (26°4+60° = 000
Example 7  In the figure, find 0.
&=p (4s /nAfe same Segment)
=p Cuerdiopp. £5)
= 33;4 ( 25 /n He game Sejwenf)





[image: image3.png]) o=013/° (exts 2 of &)
e llnng s et @.—: o (ext. <« of cyelic fwm’-)
<+ f+e5° = /80" (2 sam FA)
O43°+ 6+ 57 = /Po°
20 +86° = /§s°
20 = 9%°

Example 8

= 1§0°— 60'(',?/0_ Ze 07007(,&}._/40/)
= |Q0°
[8: /(?()"_ foo (aP}a Ze D‘/’ydwi'{ﬂﬂ/)

=/d0° ”
<+ L+ & =2360° (45 thfalnf)

120° 4700+ 8 = 2360°
N O= /4—0“#
o= lf0°—6 (opp. 25 of Cycll'c fua//)

=8~ +24-°

=2/4°-6
0= B+g2° (5T, 2 of A

O=Qi¢°—9) £ 62"
280 =274°
O =138

d=1807100° (opp. 25 of yctic f{{@%)
= gOo

©

e = [00°~ (36°4d) (¢ sm of 4D

= /£0°- (264§

¢

O=(0°-e (op ss of cyetic puad,)
/86>~ 65 4 7 f

17§ st

1

(1|



[image: image4.png]. Example 1  Inthe figure, find the length of AP,
HfAB=8cm, BC=6cm and AC=1lcm.

By Aangent Arem Hhe £50ernal port 3

AP =% = AR
{EP =(f-% =L
Cr ={ll-x)=cQ

Witk Be = &
F-x)+ (1-5) = &
[9-2x= 6

=/
‘\2)7({:54 2. AP = 6.8 con

Example 2 Inthe ﬁgu_re, prove that?
. (@) AP= %(AB-*—AC—BC)
(b) BQ= %(BA +BC—AQ)

¢ CR= %(CBJrCA—AB) e

8, Aengerd frox Ahe. £XTemal part:
—a EﬁP:a:AR' A Y R o C

8P =4 =paQ
CR= c=cQ
@) Lpgthe-8c) = £ [(ate) +(atc)— (bro]=4+[2al=a=4p

ll)) __)L_ (B/; +Bc_/qc>= -DL_ [(a+b)+(6+c) - (Q'l‘e)]:_i Eléj :A:ﬁ&l

© F(@+0A-A8) = L[(hec)t+Catc) = (ath)]= 4 [rc)=c=cp

Example 3 1n the figure, prove that AB+DC=BC + AD. A]3 LQ N
By Aznget St

AP=a =AS

§P=b = BR

A = ¢ = CR

DR =d =Dg

LHS =AB1DC = (a+b)+ (Jtc) = athtc #d
RAS, =BCHAD = (bt) +(atd) = atbtctof
O AR+ DC = R +,<)p#




[image: image5.png]. Example4  In the figure, ABP , ACQ and BRC are the tangents to the given circle.
If AB=8cm,AC=5cmand BC =7 cm, find the length of AP.

EBR =q =8F

(R =bh=C&

Wtk LC =7
ath = 7

BP-6)+ (H8-1) =7
AP +AL —=Ro
2P =20 (‘“/4/’:/9&/, fayenz"//zmzﬁe /fm«///«:w@
AP = /0em
Example 5 In the figure, AP , AQ and BC are the tangents to the given circle,

Prove that AQ=AP= %x Perimeter of AABC.

By Aangen b from e -0{[‘4/04/ whis

AP ::/46(
{BP——— BR
CR=Ch

LxPecimelor of 248 C ={ (4B +8c+AC)
=4 (48 +BR+ CR+AC)
=L [(#8+8P) +Ccq+A]
= ;_[AF"‘“H@_] = L ZAPJW'éEZ/QQJ:AP_eﬂQ

Example 6  In the figure, OP = 4 cm and OQ = 3 cm. OA and OB are tangents to the circle of radius r.
If ZAOB = 90° and if PQ touches the circle at R
(a)express PQ in terms of r.
(b)hence, find the radius of the circle.
@) By 4a y
E BA = (t-3)= QR
PR= (r-©)=pR B

P
PA =PR+ QR = (r-¢)+(r=23) =2r-7 }
[¢)

(.L) PG = R [ty
r-7 = &

Lr =

2
SN = é#




[image: image6.png]Example 7 In the figure, TA and TB are tangents to the circle ABC at A and B respectively.
If ZATB=64°, find ZACB.

o= If0°—6%4° (of/ Zs, 7oéc fuaa/)

a %
0. LACB = -—Zi (L at centre, e 2 oF ciie /
= /4 64 =
> B

T

= (g)"%&

Example 8 In the figure, TA and TB are tangents to the circle ABC at A and B respectively.
If ZBTA =66°, find ZBCA.

O = §0°—46° (oyp. 45, cyclec phad.)
= //4° a 7 f

— 360%06 (<45 n,tﬂ//Oﬂ/;‘blL)
=340°~ 1/#°
= 244°

o zRCA =_)ﬂ_.. (Ldfceﬂﬁf)zf‘//& Aafa}uﬁl‘\) B

— 246°
2-

= /2.30#

Example 9 In the figure, TAP and TBQ are tangents to the circle ABC.
If ZQTP =72°and BC//TP, find ZCAP.

o o Q
b = /80 ;_7'1_ (fa%&mt {m"t fﬂ%ma//oww
B

_ J08° /S~ . N\c
2.
= &¢°
b= a (Még) &c/ 7AP) 2/
A P

T
L2 CAP = b (Lo 7% allemale Pepment-)
25’540#




[image: image7.png]'Example 1 In the figure, the diameter AB meets a chord DC at E. A

IfABL CD, AE =4cm and DC = 16cm,
find the radius of the circle.
Wr—4)=§)() Omlp&rl}of/h%n%/ chodd> & (|

§r-= 6%
r-2)=¢ G
r =/rso

N 7he radrua dthe ey 25 10 em . B

Example 2 In the figure, AB is a diameter of the circle.
if AB = 30cm , CD = 24cm and AB/CD , find d.

o = J s = n*
= [s0

Example 3 In the figure, O is the centre of the circle. f ACLBD , b
AB = 9cm and BC = 4cm, find the length of BD.
@) = (7)(9) (fopedy of ilersedting chrd,
1
(@ D) = J é A o B ¢
. N e
Example 4 In the figure, O is the centre of the circle. c

IfAB 1 CD,Ak=2,CK=4cmand DK = 10cm
find the radius of the circle.

2(BR) =00 (Popeity of rniersedting chord )

Ric = 20
o A= Br1= 28 yp (fhe tuplocae, L

CD=4+0 =1
kN +4 =L cb (Arhe Himugh cenre, L o chord) ?
kwta = L1

k=3

radive = JBM*4 om* = J i+ 2> = Jnio g




